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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

1-  Fierce winds and deadly waves were only one ——-----=-=---- many explorers like Christopher
Columbus confronted when sailing to unknown lands.
1) suspension 2) obstacle 3) shortage 4) variation

2-  In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers ------=--=e-- -~ to find new supplies.
1) discouraging 2) refusing 3) invading 4) struggling

3-  The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste, This ------—---—-- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

4-  True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the --——---eeeeeeen effects on the environment as
much as possible.
1) indigenous 2) competitive 3) deleterious 4) imaginary

5-  Like most successful politicians, she is pertinacious and single-minded in the —----eeeeem- --
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement

6- Knowing that everyone would -----------—--- after graduation, she was worried that she
would not see her friends anymore.
1) emerge 2) conflict 3) differentiate 4) diverge

7-  Certain mental functions slow down with age, but the brain -------—-----— in ways that can
keep seniors just as sharp as youngsters.
1) composes 2) conveys 3) compensates 4) corrodes

8- Itis argued by some that hypnosis is an effective intervention for ----------- ---- pain from
cancer and other chronic conditions,
1) displacing 2) alleviating 3) exploring 4) hiding

9-  Children who get ——-——-eememee atmosphere at home for studies perform better than
students who are brought up under tense and indifferent family atmosphere.
1) favorable 2) valid 3) obedient 4) traditional

10- The post office has promised to resume first class mail ——---—---—-——-to the area on
Friday.

1) attention 2) progress 3) expression 4) delivery
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| PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) —===eeeeeeeeeez 1970, she
completed her first performance with Hommage a Delacroix. (12) -=-=------—-- was
the beginning of an artistic career (13) =—=—ememmemmmex to the oneness of art and life.
(14) ~—=mmmemmmmmmm_actions and performances on streets and public squares. followed by
her "living environments" and the "windows", (15) in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) that it 2) which 3) that 4)it

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with  4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

There are two types of agricultural crop residues. Field residues are materials left in an
agricultural field or orchard after the crop has been harvested. These residues include
stalks and stubble (stems). leaves, and seed pods. The residue can be ploughed directly
into the ground, orburned first. Good management of field residues can increase
efficiency of irrigation and control of erosion. Process residues are materials left afier the
crop is processed into a usable resource. These residues include husks,
seeds. bagasse. molasses and roots. They can be used as animal fodder and soil
amendment, fertilizers and in manufacturing. Nutrients in most crop residue are not
immediately available for crop use. Their release (called generalization) occurs over a
period of years. The biological processes involved in soil nutrient cycles are complex. As
a rough guide, cereal straw releases about 10 to 15 per cent of its nutrients and pea
residues release about 35 percent of their nutrients by the next year. The speed of
generalization depends on the nitrogen and lignin content, soil moisture, temperature, and
degree of mixing with the soil. N is released fairly quickly from residue when the content
is higher than 1.5 per cent. In contrast, below 1.2 per cent, soil-available N is fixed (called
immobilization) by the microbes as they decompose the residue. Thus pea residue would
have short- and long-term benefits to soil fertility, whereas cereal straw would reduce next
year's soil supply of available nutrients. Over time. the nutrients fixed by soil microbes
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and humus are released and available to crops. Nutrients from residue are not fully
recovered by crops. Just like fertilizer nutrients, nutrients released from crop residue into
the soil are susceptible to losses such as leaching, denitrification, immobilization, and
fixation.

It is stated in the passage that —--—--eeeeeeee,

1) process residues are the materials collected from crop processing
2) pea residue has over seven short-term benefits to soil fertility
3) soil-available N is fixed by 1 per cent of soil’s microorganisms
4) generalization occurs faster in pea residues than cereal straw
The passage points to the fact that ——-——-nmne-,

1) seed pods are among field residues

2) crop use depends heavily on crop residue

3) husks have very little nutritive value

4) microbes fix the soil’s needed humus

According to the passage, ----=--=-=-eve- .

1) process residue denitrification happens very quickly

2) fertilizer nutrients are not immune to immobilization

3) orchard residues release far more N than field residues

4) field residues cannot be ploughed directly into the ground

We understand from the passage that —---—----—e---

1) soil’s lignin content is an index of its moxsture

2) field residue lowers the efficiency of irrigation

3) animal fodder is often used for soil amendment

4) processes involved in nutrient cycles are simple

The word ‘stubble’ in the passage (underlined) is closest t0 —--=-=meemeaee,
1) ‘root’ 2) *branch’ 3) “straw’ 4) ‘trunk’
PASSAGE 2:

At the beginning of soil formation, the bare rock out crops is gradually colonized by
pioneer species (lichens and mosses). They are succeeded by herbaceous vegetation,
shrubs and finally forest. In parallel. the first humus-bearing horizon is formed.
followed by some mineral horizons. Each successive stage is characterized by a certain
association of soil/vegetation and environment, which defines an ecosystem. After a
certain time of parallel evolution between the ground and the vegetation, a state of
steady balance is reached. This stage of development is called climax by some
ecologists and "natural potential” by others. Succession is the evolution towards
climax. Regardless of its name, the equilibrium stage of primary succession is the
highest natural form of development that the environmental factors are capable of
producing. The cycles of evolution of soils have very variable durations, between tens,
hundreds. or thousands of years for quickly evolving soils to more than a million years
for slowly developing soils. The same soil may achieve several successive steady state
conditions during its existence, as exhibited by the Pygmy forest sequence in
Mendocino County, California. Soils naturally reach a state of high productivity, from
which they naturally degrade as mineral nutrients are removed from the soil system.
Thus older soils are more vulnerable to the effects of induced retrogression and
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degradation. There are two types of ecological factors influencing the evolution of a
soil. These two factors are extremely significant to explain the evolution of soils of
short development. A first type of factor is the average climate of an area and the
vegetation which is associated (biome). A second type of factor is more local, and is
related to the original rock and local drainage. This type of factor explains appearance
of specialized associations.

It is stated in the passage that —--—ececaaeeee,

1) soil’s steady balance is through its ‘upward evolution’

2) soil achieves only one steady conditions in its existence

3) cycles of evolution of soils may take up to a million years

4) a soil’s specialized associations appear early in its development
The passage points to the fact that in soil formation —mmmmeeae,

1) mineral horizons are formed after the humus-bearing horizon

2) minerals are removed from soil first through forests formations
3) pioneer species include herbaceous vegetation and short shrubs
4) there are two types of soil: soils of short and long development
According to the passage, -----=seecceeen-,

1) biome includes an area’s climate and vegetation

2) local drainage influences the evolution of a soil

3) soil succession follows its first equilibrium stage

4) there are three successions in the evolution of soil

According to the passage, in soil formation -—-------——-- -—

1) *natural potential” and climax are the same phenomenon

2) the bare rock out crops is colonized first by young lichens

3) a state of high productivity occurs after mineral degradation

4) environmental development reaches its highest natural form
The passage mentions that ——--—-eeeeuuev,

1) the Pygmy sequence of soils is Mendocino County, California
2) the vegetation environment of an ecosystem defines its soil type
3) retrogression and degradation are more likely to harm older soils
4) soil evolution is influenced by several types of ecological factors

PASSAGE 3:

Halotolerance is the adaptation of living organisms to conditions of high salinity.
Halotolerant species tend to live in areas such as hypersaline lakes. coastal dunes,
saline deserts, salt marshes, and inland salt seas and springs. Halophiles are organisms
that live in highly saline environments, and require the salinity to survive, while
halotolerant organisms (belonging to different domains of life) can grow under saline
conditions. but do not require elevated concentrations of salt for growth. Halophytes
are salt-tolerant higher plants. Halotolerant microorganisms are of considerable
biotechnological interest. Tolerance of high salt conditions can be obtained through
several routes. High levels of salt entering the plant can trigger ionic imbalances which
cause complications in respiration and photosynthesis, leading to reduced rates of
growth, injury and death in severe cases. To be considered tolerant of saline
conditions, the protoplast must show methods of balancing the toxic and osmotic
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effects of the increased salt concentrations. Halophytic vascular plants can survive on
soils with salt concentrations around 6%, or up to 20% in extreme cases. Tolerance of
such conditions is reached through the use of stress proteins and compatible cytoplasm
osmotic solutes. To exist in such conditions, halophytes tend to be subject to the
uptake of high levels of salt into their cells, and this is often required to maintain an
osmotic potential lower than that of the soil to ensure water uptake. High salt
concentrations within the cell can be damaging to sensitive organelles such as the
chloroplast. so sequestration of salt is seen. Under this action, salt is stored within the
vacuole to protect such delicate areas. If high salt concentrations are seen within the
vacuole, a high concentration gradient will be established between the vacuole and the
cytoplasm, leading to high levels of energy investment to maintain this state.

The passage mentions that a plant achieves its tolerance of highly saline conditions
partly through ----eemeeeee- -

1) ‘rapid and successive respiration’ 2) "de-salinization stress markers’

3) “halotolerant microorganisms’ 4) *cytoplasm osmotic solutes’

The organ that balances the toxic and osmotic effects of the increased salt
concentrations in a plant is the ———-—eeeeeeeee -

1) *vacuole’ 2) *protoplast’ 3) ‘organelle’ 4) *halophyte’

We understand from the passage that ——----eeeeeeeeee,

1) halophiles cannot live outside extremely saline environments

2) *vacuole’ and “cytoplasm” combine to form a salinity gradient

3) halophytic plants survive with salt concentrations of over 20%

4) halotolerant species live mainly in coastal dunes and salt marshes

It is stated in the passage that the osmotic potential in the halophyte is ~—---e-envnx --- than
that of the soil.
1) not related 2) equal to 3) higher 4) lower
The word *’ in the passage (underlined) is closest t0 —--—seeeemeaaeee,
1) *clean’ 2) *separate’ 3) ‘combine’ 4) ‘pressurize’
ol y S 5 T 4l

€35 dmlone (lgi o0 3o |) Jiwgid (lime 3,80 pogdle gy plas L -1
38 Jols (F Al by (¥ ragd (¥ s O
o9l plal 390 IS ol gy aide ; @as 9 0L (o I L gylol (o g slade 3 saelip g1y Y'Y
b Gl g bl Slads g slass g skl O Glee O
wilas 3L Sl (g L] Slads slaws g 2alS g Lol O e (F
Al 2al gkl Slads slawi g 2al33l g lal Cugi p2 0 Ol e (F
s Gl g bl slas g el g lof cugi o 50 O (e (F
(09 g0 D guaino oLiS (5590 yolis <52  pais plas’ YT
F5a (¥ &3, (¥ o (¥ o ()



e LA 121F

(YY) 05) by J 58 9 So pie 5301

13,10 ydow o lald Ldg k5 LSiS 50 4 puais plas

e s OF o iy Y &30 ()
ol (AL slaplail g b slo Jo1s & 0T (2955 3 53939 Gl sz ol Jalgs 3590 pluas
SaS ghee g lga L2 (Y s g gl gl bl ()

Syt Joilly 5 (5,08 gna (¥ lgn ;Lo g JsgSTy (T

sl (51> 2o b Egomo 5 98 a0 3590 plas

3y8lsn Comsdty (FSgu g (T35 SLI s 55, Jsbo )3 oS o ol ples gax ()

Al oo aieS sled Plas sleis alS 5 Wil (sles IS (Y

B o Cawd g Sunh o (Kidge Wl g kol LT Sl o S 0 olF a5 Cudl oles l5ee (Y

8 Sl 3 b o yss cnl plail s (o2l 5 (o)) Sejglp 8 0y dolhe b Sz 4 olS o5 Sl ples s (F

b gy (Particle density) S5 adly JI8> g 15 398 S 500 s FAo Bos U Ol yie s 1AY a2y 30 SO 40 51
g0 LS ) el D3 1 S5 (o 9 iz il 4o 3 YT S5 g0y Cugh) g ansle yia il Y0

Yo ()

da (Y

Fo (¥

$¥F (F

faijlu s Gldas | jlal) plus iisd axlge S9meS b ol )3 I i paie Jlie yo lalS &5 !yl 5o
Olsz 9 sleplal )3 ol ades ()

oS ks, o 4y LS glaplal I polic JUisi (¥

o SBS 5 )3 9908 uli 5 (> e sle Il pelie JUSI(T

Olaz e p o 0 Bl 5 o @ s o gl ol Jlanil (F

2y B 5 a5 358 S 0 e e Yo wolily) obml g ()b yeae 1Y as)0 S y0 S
Wl px> Wb weyd Yo S 0y Cugb) 9 LS po ile p e, Y0 (particle density) S
Yol S wels 010 lawgd oudd Jal] paxa 5l yidios vo o Wi S

Y0 ()

YA (Y

¥ (Y

O (F

Sl gy Wilo p? Lpaaws yisasd 00y S R0 3590 plus

Wy 95 9,8 alali 43 Sushs, jlada ()

Ll > 0 S Cughey loaa (Y

S 6l iy 53 S Cugbs, Jlaia (T

Ol G e 5 (o S aige S Cughs, (e IS (F

-Y¥

-Yo

-Yy

-Yy

-YA

¥4

...f’o



OL1inl 2 ..
A daxao ./9'%?01:5'% 121F (YY) a5) bl Jys 9 Co paw 0!

il Can 53 3590 pIaS 1390 oaliil ol al ) 35 o515 b SIS Cugh) (550 jlil sl aiyg i (995 51 51
S anles  adly Cush) il 55 suld (g T ojlil Cugls, ()

Oy anlas  adly Cugh 5l ieu ool (g0 jll Cughs, (Y

Sy aslgS (aly Sush) 5l Fr b 5eS 0ud (5 Sejlail Cughs) (F

B S Cugb, (5,505l (65531 oLF Al jeax (F

faans go Gl 1) Joall uSie plas Jasme lo i b abilio Cur )0 Jbly 3ble glaas = LS
el 9 Suiglsdyse eyl 4o ek ()

Wgyien O 5l g 35 Seaglie gL s Sl (F

slegge 5o 5155 liil 5 SRS (59, s3slasle b (F

) e bl sloro e 0 SlLS e g ) 3 (50l e Slane sla 5 (F

iy B g A il 0 o5 ple il iyl 10 @30 Slasel 30 g yie ile 10 dlold 4 B g A aladi g0
Hlods Gl 4l g o il o) 0) S gludl jud S joud Colud dawgio .l yio il =100 9 =10
! plaS by S 9 Sl (lime 42 SIS 51 @ p0 e il Vo Jolae (o2xdan 5l by

A 4B jlagl paase maailu oo h ()

BaA jlail poase pagile o (Y

B wA jlail poase pa gile o/A (7

B wA jlasl 5 caSe e gty

§a] @tk IS & oLS 1AL Slge 5 ol S9aaS 4 by po (SLb i 50 4 53,55 !

Sy (o (sloged § (Fuuses ()

by Fap ) g oas 3,5 (¥

ety adipaza 5 o ] (F

3508 13 (2lié olge 5 Ol i gy ()l Ll s LS (F

Cogal o aid )5 Jais0 L el )l plaS Canld oles & paws yo S5 4 O S0k dlolae yo

olej g Sk (¥ ol ()

olej 5 & b g e L (F olej s 5 b (7

fal gtaal polie 3 (55 )3LS 53 (g5l SBOT B pare 43 &l T pagde 13590 pluas

el LS 3ya5 Jolae oad a8, o ol ()

!l Joazme S adg Sy 0dd G pan sol dcgema J5 (Y

ol gblo g St Lty )8 olS g sad B jae LI (Y

ol gadly 3 a0 pdes Jall )0 oLS dagi 0ul 8 jae ol (F

3,10 S Jolge plus’ @ (permeability) S oG g pdudea

S 3 0310l by uSe Eapmas ()

S G s pidedi b Se S (V

Sl Eagd b e o g I (fluidlity) codls b paitins coni (T

ol Eo gl b paiiins o ¢ o (Tluidity) cudlw b S oo (F

-fA

=p¥

-FY

-F¥

~-fo

-¥7

~-FY



) 7 <
% axio "el’oc’lfl(d/ 121F (YY) a5) bl J 58 9 Co pae (yae)!

3,10 Al aye gyl )0 aae 4L Jolge plas -FA

Sl spldl o LS Eg o yaa el ()

SB- Si9lem 3 ST (5 pdideii S I boke (¥
ladgle (LS CiS (g lani e o5 )5las (T
Loly S o 5 Lol S wlds (55 (F

Ce, Gy (F Ci (v Ce (¥ CAM ¢

Wz ale pl 30 S ple Jamaily bl (9,5 0 0) olS gl gl ojlpd (w WSle Hhai lawgie )51
! Sl Ko

o/f ()

Yoy

Yo (¥

Yoo (F

—d

il sl o bojl 7ok

Cawdts Y8 3 Yo Vo A b ply ajledd Jo1o Olaye ggomme 1555 8 9 slowi F b Sokas ol 7,0 S 5o
] plas plp Uas il ylg ouwel 0000l

QO

Y (Y

OY (v

P (F

F jlais g Yo 910 plp bl ool g o byl 51550 8 59 9 oles Sls aylpd 55 jlasi 93 51
Camsl IS S5 ko bl YO ply jloni

Jr o

-0

-OY

N
Y (¥
¥ (F
Tl plaS il 9o il sl Jgor gull ollyp ol 00 Juolo 5 gull (oY Qupe T S0 0 -OF
S.V df SS MS fQO
Y voode & (Y
Q9 \o (¥

s Yf A (F
s B
J

Yoo



) e 2
Vo dAxio /QI{?CJ:J(_/, 121F (YY) 05) (ble 58 9 S piw (ya0)!

Jol5 saTsl 75 B )0 b 90 5 s b i B g A ol Lele 90 Ji el Guleil Sy 0
900 Nee NBo iy lad g AB B ACu 0 g gome 51,008,515 (o) 2 9590 51550 aw b (ol
fog wplys i o & Cuwl)y Jlei ju B g A ool awlo F polio il B0

\ {5 il &

YNy

O-_F (Y

Yo 1O (F

3 121 oY @y0 Tob A ) g gy LA 55l (O cudesl) 0ud 0 )3 )8 ulesT Sy 0 S
4 ol i iy (53 19356 sllas g ol jeSB glas (oolj] 4z )0 Wl phaw 93 gl (o5 58 555
Pl S ol a2

Yo _\Y (N

Yo _YF (Y

YO NY (Y

YO-YF(F

3 A )96 o jlodi & by ye (SS) Sl pe ggame o Iolai Jols sl F o0 FXY bysasl kel & 50
Y o 5550z (Sl dmmlis cumex Sy Jlde g oud Jol> Yo g 8o Yoo cuiya B ,esU
fam! yaiz> (AB) ;955U 90 Jliie p1 F jladie & yguo (] 0 .Gl s0el Cawsts ¥ ol axdane

Yo (N

Y0 (Y

& (Y

Yo (F

Sob ledd Ol o ufile ) OleMbl 4dS 4 4293 L )G F g jlan 8 b (ol Jolf Sob 7,0 S 0
Cmal A0S il o & ol 5 o s G le (gl

& ¥ o,f
D E K =0, D ® K =1, D K) =T
\ \ )
o FY — V8% — B (Y o0 =\ —F ()
d—08—Yo (f A—o,fY -4 (¥

rsmlojl alg po o cualie ¥ g ) S0 F U Jdolai slacSal 7, I ;0 XY XY el Julejl O 5o
Tl plaS ol a2 4 Comsly s pay (5510 g glas g 4l aw Jiliio Hil i pulojl glias a0

YV = YA =8) O

Y\¢, —¥%—Y7 (Y

VEF — YA = AF (¥

P —%-—0)(F

-oFf

-00

-of

-y

-0A



220|200 7 .
V) axio /9%?@:/“_/, 121F YY) as) bl J s 9 Co pow 0!

b ol 00 (5 Sl g ¥ phalojl oty 5 515 0,8 iyl S5 F )0 slewi B ol s )b S p0 -84
sl ok folojl 39 (53l paigei glas lay o (Silie ) GBI & 4z gi
(F s =123 88 (5 =100 ; SS jo=YAo)
YO
¥V (Y
Y
Y/ £Y (F
2y glesl slas 3151 450 b 31 Jiiao O jqu0n Slayo 155 5L 90 b FXY i poje ik SO 0 P
Yol plas
fO
# (Y
A (Y
VY (f
fel IS o Glasye Egome T =0 gulLF .Y .7 F b ply ()lesi Kila) §,5 ST -#)
Yo (\
YF (v
Yo (Y
fo (f
Glas 5ol3T as )0 Y 90 X F ol ,)l,S5 slawi bwijar g D g C B LA jlos F UL Solai Mol 7 )b 5 jo Y
il plaS o
YO
f(
Vo (F
VA (F
Jole plas 31l 5 JSS a TT g T Sl ¥ 50 1)l ,85 51 (S sy Gialejl addi \ adl bYWSI Sy yo 51 -FY
Yol a3L b3
| QEAT 1.5l

aybycy, aybye, abyc, agbyey| lagbye, agbyey abee, abycy

ABC (¥ BC (v AB (v C
Sl c)b plas & b,g}o .ol‘;.mg' 4w o )|)ﬁ' aw b jled aw anulie yo ») u.&a_ln)i PO TIES 4 1

B A|B C|B|A A|B|B
AlC|C A|lA|C C|C|A
C|B|A B|C|B B|lA|C

oSyl duw 55 dolai Sals” (¥ o8 aw y3 Y @ape ()
oyl aw jo olai L5 Sely (F ol ans jo b ,euS18 (Y



o (;; v’ L J =
VY axco /92?@3“/, 121F YY) as) bl J s 9 Co pow 0!

foaw! jadin Sl MS jlako pj SleMbl asangi byl 55 F g jlowi O L Solai Jol5 slacSob )b 5 j0  -F0
(J5 oSl =Y°’MS,L.;._J= do s CV =7Yo :SSJS'= fav)
Vo d ()
Yo (¥
o0 (v
7o (F
faml saud planil (5 3lel b Wiz b 90 C33 amulie 5l s ld oy yige 1390 plas  —FF
Uas Lae Bzl (F s SS (v s MS (¥ s CV (
G g W2 )d Ao B3y (gauSeh b (Solai JolS saSals 750 At iV 2050 Ty (ool Gai0dgw PV
oolizw! ulejl sume s1y2! 30 .l 00l dwo )8 Vo  Jgiw somSel b Jdolai Jolf slasal z,b &
§ ! mmlin 4l plas
oY gaye (¥ s9olai Sl ()
23y EauS el b dolai L5 slasel (F g gaS el b ol Lal5 slasely (¥
3390 plaS Jlas! b BTl 5930 AP 10550 pud sl b ye5 1 s dulejl 1o o )easU slusi Julzdl 51 -FA
f ! canlis
oY gape ok sl eslanul (Y L ()
598 ol 195518 5| (slasgarme i3 sl o 5 (F 39 sslizal 1,55 e SLtslajl 51 (¥
ol Sy 3590 plaS ol Bl Sl o (g S Lo JU (s 2 50 1 -7
Al Jaee Olulie jl Wl pe S ye Slslas S ()
ol Jlad SS U W ¥ az 05 ¥ ax 00 s Lly, sla MS gaame (Y
Wl o MS L il Y am 0 9 Y ax 0 0 Jhas Ly, sla SS goamae (¥
s i Jolae ool logyd el ply Jlad golil ax 0 b sul SS& Lalae (gol) Dl> )0 goamas S1(F
fsl 3590 1S 51 b (5,10 paigns b bl Sals 75 50 Sulejl (slas Sl yo (eilen s Yo ire -V

e o sladiged (r Sglis (V bS5 5 digas Jolia S1O)
o 50 SBles o Sl (F o 2 a0 s Siglis (Y
isosas 5)3/5T

ol ajl’ 'p'..\S' Jélu ﬂ""“'.?“”ﬂ ) bxe -V

jpgiyses (F jygs (7 Ceis (¥ s3igas ()
£ 20 8ol 4> 13 38 20 O jge0 0ULS Dguns Jolas Al oo 99> g b S cands byl 0 onij 09290 Mg gl (lime VY
59lg 5t (F 259lem (T 259055t (¥ olgds ()

f ] o336 S5 @ 1) HMe sy p LS50 I p 99 551 55050 390 plas VY
WS o0 5 el S 4 BLb G 1 OB e ) e O 2 Ot ()
WS o $S el S Gl G 1 S o GBS0 5l e S0 S s (Y
DS o $yS el S B o) 1 OB i ) e S e S0 (T
WSS oo $ S sl S 4 ol S 1 OB s 5 e OB pots 5 OB e 5 e )0 o (F



o s ' > s
VWY axan /Qk?cflﬂ(_/, 121F YY) as) bl J s 9 Co pow 0!

03,15 S e 1 Dby 53 g Gkivailano slayl 10 Jale plas

basals cgr ST Lyo a5l glas )| (¥ e gl (F b i ()
O ann! U pasilSin 1S s 31 eyt 38 T (59 3 Ailintll calys cilasd Caadlnd 1500 40,5 Siudi
Lulyd dan o o)l (61550 (Y Lo)S 2l o olsile Suaglie ()

el plass Blaa )3 olygile 28 (F by 25 Blae 3 il Cnaglite (Y

(W TRV F— R PP C YU E— s & BOD

FaS s gleants (ol S (Y et s gt (5Bl93 (s heS T ()

P s ploand (2lg> 0 5eST (F 7S s gy (BlgS ST (T

Ol dpe 0 30 g 0,00 (Sl 2o 10 1) 393 s (39 3 Ao wia el e by @bl j0 2l

Caligige T 2 Wiz andys

A NYD sy Yo (Y rd Yoo wus,010 ()

2 V00 ey Fo (F 52 YYD weys YO (¥

] piamnnngST alaS 50 (wlogm gl (l3ae (ot 0¥

aigi g bl (F dazae gla > (7 Sble (Y aigs ()
! Jole plas 31 o Bane Sblo @bl AL sladiss S 5eles] g9

&yl Slogmge (F lga ¢ o (Y S e (¥ S ()
Y oo  attlo Ol puti Ol | Sas b s gST 50 &5 Sl D109 90 3l (glaiwd U ja0 0590 plas
SBasades (F LB A S pae (Y ol aues s (Y SB oS 36 ()
Lo ol aan SN 0 40,5 LS L 1) 095 aiVlad wijols g llS 0 SW) | 3 ols as EIL T YV
0,1 ab 4 WS Lrals

o g (F by ens (7 L 1,250 (Y b yea5S ()

0,00 U dx U 859> Al (0 Gaes

S5 (F Jlo! (F Jbls (¥ Sy ()
Yol 0olgils plus & aleio Qi LS o 5 el g 00y yio Lo aix awl o Sl olie
Shaliad YO I Yoo (¥ E¥eks DO L YYO ()

Sz B0 I Yoo (F HediF (V00O 5 Yoo (¥

o o0 I UL &5 )3 o e g WpannsilS g Sas Caadlad 1531 Catl pitumnsnsgST oIS 50 Wb &)l g Cugh,
sloy)l> Sl sla o> (Y Laglsbe (A

syl ohb 5 sla 15> (F o lass (¥

ol Flg> a0 4> 10 slaigs o181 Lud (p il

ol T ] 3 sS4 logmga (¥ o gy BT 5 3058 &S Fl3gzae ()
WS g gy 2lja0sT b sy (F 38 @ljaseS b (bl )l ol il (7

2940 00 o guninn (0310 O 52l il S palee b BLI,T 0 3500 plas

sobai (F S5 (7 sSlaasT (Y skt ()

g g0 ool 42 3,10 41,8 S pdawe 40 Ly a5 T Wae dilgs a5 LS
oos o (F lacidgry 5 (Y lacadgzy S con (Y lacadaals ()

-Y¥

-Yo

-y¥

-YA

-v4

A

-M

~-AY

—-AY

-A¥

-Ab

-AF

~AY



o ¢ s L J y
\F axio /QI%?C/%J% 121F YY) as) bl J s 9 Co pow 0!

SN gy Gl g ) Wlgi o0 (5991 Jelgs Gl b 989 45 WS (0 e (S590851 (9 plas
Tl o 9 a1y o jlails>

S (F 9,88kl (¥ 2d e (¥ e ()

-AA

Sz po8 y Jool AR

PR 08> Shle o 2l slaplail Bilail ipad Shap VL Sl slaspe S)b a Tl ez e ()
g en gl lie

s wbion Gl alie 0 5 0e3 Glgile L2 sl Suap VL oLl Glagsse )b 4 gl sl az e (Y
28 (o 353 & Sss)S 935 JSS

s Wb ol alie p F0ss Ol L2 imgd Soop VL Gl slopse Bk w Iyl ez (T
DS e 35> & 5555 535 USS

eA o Ol o Glsl slaplal Silailveusd Suoz VL pldlie o sie ik 4 Tl ez s (F
gl oo yolisY waslis

faBl oo S g09p S STy £93 51 oSy plas

gl (s )Sen (F JlEe (5 S (¥ Js (S5 (F SlsS Bgys ) ()

_q.

sl el g ST Cbilis

Ta3,10 8,15 3 590 plas’ ;o PMP 3 PMF (sl el )l

S oo )18 oliil 3550 ie gladw (b (23 53 ()

.\s)__..fG. )8 ookt 590 ,_,>)La| slaaw Ls.>|).lp s e (Y

gl oo ooliu! adlaze )b 2SToo coond (gly Jasd (Y

g o oslazwl O 2STas> O et &'y (F

f ol ino plos & SSFg Jole MPSIAC Gy 391 p oo 5o

Pu Sl e ()

aslaie )5 S b8 pdas (F

P> ol bl el g Jlade (7

BLM (55, ;0 S (o bele (B3 o d algs oyei (F

a2 1) adgl S 55 aaly 53 (2132 dlse lake 4 4Bl fulw B IS (59 a2y )0 39290 2102 Slge o
ol o

el Gl (a3l (P as 50 il e (F OO (e (Y 35l o ()
€354 50 DIAE 6982 (>Nl S 31y (55 cAlinMo B Ly (255 b gLl T 5

Ft 228 J5 Al ()

Y
Py S B8 I 41
@3baidl g She S anie 5 ol 58l @ aog L (F

-4)

-y

-y

-_¥



o s ' > s
V0 axaw /Qk?cflﬂ(_/, 121F YY) as) bl J s 9 Co pow 0!

Faigud o0 ooliiwl 5,190 plaS 10 s ja Sakardi g Ramser sl g @

Gl S et b e s (F Gl e sl v )l S s ()

LoSiL o 28l alold pusi (5l 90 0 (F LCSSL s ($990s alols s 5l 90 o (T

Sadylo s SO0b sl s fpw alold i 50 4 Joles plas

S ol Cg adlais LI oL e e S50 ()

dilaza & 3h Gt g il s i 3L g (¥

% -0 PR | -3 PPN -3 PR  KESRC SO ST JP'V 00 PP | ¢

ddlais oL ASTao oo po o JlE S Sy 1000 003 paf b ol (Slisa KS0L g (F

S8 g0 Uiyl G Sy ot oo Sl 3 (550l 8 dayl s ol 5

onij sla ol o (Y odij e slaoSiol o ()

Syl Gl ol Sy B j0 aden o SKS0L 20 (F obj 4 of jl glis 1L oSSk sy i (T
a3y 551 ool 0k 03Uitasl yi ¥ U1 o pad SUESB0U 51 830 s b S s e S 50
5ol slacnd ) oo alold Negli Jguo 3l soliiuw! b wall abl p e 1,0 adhin LI oL s pu 50>
fol jads by olas 3 (e o )

AN E ()

ANTE (Y

Ao \fo (¥

355 oo 58 o3liial 3,90 3L e ol (sl Negli Jgax (F

»® Slabxe STK il glabali o)1y (obudar (555 dnlne sl yumn )3 dal> plual o5 > aslllas 30
il o330 (hizr (5551 druslinn (512 bl p1S 139 Lol o

\ \ \ \ f
—.pu’ (f AR A —mv' (Y ——a'
\l Yg Y Yg
SNl > S (F JSSL (Y el (Y s ()
e , — . o Jira)()
suul A5 Wigod g« ygee 30 1) Akl YL 3l oud dS | diged (5 pegleil )5 3 Lels S ST m akuly 50
(<)

Fmsl Caw )0U 0590 plaS maddd H158 S 7 30 30 1) alald lad aals ol 5
ol il (dan Gl B S0l Al 55 S el 4 2 (0
ol oS e ol d Sl all 555 S Jel> ax a (Y

b oo I (5 () ojlail b (sl B 1L (T
elo 7 S2sS d (1) ol omdaw b jd 3L (F

-4

-85

-ay

-4A

-44

_\co

-4

alold 09 Cull (2,8 L el plail Cuwd (pul o @ dlolddow jl aiald SO j0 A8 Cib sbw | Oldes 1 VY

¢l igliio Jole plus Lol adado ghaw 2ok o Sl
<l gy e pe (F sk ol ()
Sl 90 Gy ($99es alold (F CSL 98 oy B ALl (Y



o (;; v L ) =
V7 axino ’ekoc"ln‘.r’lc/d 121F YY) as) bl J s 9 Co pow 0!

Sausl P S gaugfw 10 5 Il Sl L 00 plas )oY

SIS > 2815 (Y S o SIS ()
ey ol @ g e p S oD e 5SS (F S b cud Zals (7
390 Wb I Judgp J5 50 59U plas (Gl Gl Joe 0 S gpdiguled Jole ailxe ;0 )F
38 )18 oy 2
O e (Y S8 ()
P e o edleas Clew a0 (F S eske ae s (¥

Yooo odgi pa> J5 g WS Sy dilsog, J&iogwah S8y dlge jlaueys Foo oial Gy ST )0
Yol oy Wi glodgl Sy w31 B0 b 8 a0 (AL o

Yooo (F Foo (Y Yoo (Y Yoo ()
€39 azslu wl gL ) yio iz B i5Nas o 4SAS gladas -V

¥ (F Y (" Y0 (Y 1,0 ()
V- PP - Bad el 43 yiie U Gl > Cuz )0 gl &5 ..., s gl 3o —\e¥

by Bl o adls (¥ ol Gl L Ll ()

Slge 5y31d g - 3l (F lgs (3810 gusy - adlo (Y
P Q=Y;OCIA s s b s Byw s 0o

el Sl 3 g e e (Y Dyl ges 33,5 a0 50 G500 g et ()

Sygmi B i 55 S (LS gl (F el i S (L5 gl e (F
Caigi oo oolaziw! 3 lge plas 1o i jas Law g Hall sla 2y, V4

ook okl et dulos gl g0 4o ()

oykad Jlad a il 3,95 5 Sud Al (Y
Slodly Julud 0 S 23, jas e alne gl 50 2 (7
G b b yresi o glatly ol 15 S 2B, b fsmm mend sl (F
Lo i g B0 U Yo ailaie wand g adl sad Gliail shlusd e cue cSib Shast 438 81 -1\
Pl amlivn L £ 45 plaS bl ars sl

oS (Y 810
Mo g oaado L3 L (F alfan sl L (Y
Sislsd 5e8]

3,10 il Wi g ol Hlginl (5 lne 42 p S S0 59lgd y9090) (savaiab 1))

el shie gy - (23S (Y 3553 1008 g = T35l O
sty shti] o g, - ulitana (F iy w3 sk - (ol IS (T

fowl e S35 e a0 sloi plas Sl oudil g Jilo slaaijlo b glaasals jo -1VY
oy o a3 - 03,58 (¥ bl s o JEO
SoSadls’ \;i.... Ot = S 2 (F 03 gms 43 &LAI) oS sleas - adyy (Y



o (;; v’ L J =
VY axso /92?@3“/, 121F YY) as) bl J s 9 Co pow 0!

F! ymwbio Lo g b )Loi W30 ableo j0 gob Al s a”i,g Slp ove) plas

IRIFR (¥ RWEQ (v WEPS (¥ WEQ ¢

il 390 plas duilai (9,80 Yoo lawgie Jad g Jloy SO b (o) O1)d (o Syl 8 (i
3l Lose g 0> ganails (¥ G e g 592 ganals ()

! e 5 5526 el (F ok Jama 5 552U (ganails (T

it 30,5 1810900 plas glamle slraw gabadid (ol p

Jle 5 (F Slg I8 (7 awlal¥ (Y allE (A

flal 10595 2 (5705 Comeadl 1 pwiigen Lol (52 (ornade 0 Yol (slaic s U ol w8 plas
$lale slaas oS > (F i ol S (7 poal8l ot (Y i (F35lsn ()
fakias ool plas Gl wldo )0 JLE 90,5 ady aule (s yinie

ooy, asas 2, (Y 6;..;46&4,'15)15(\

S bl aiy sladl> (F sadi o, 5 pb LlN(F

e 80280l A5 jabas D)0 lad (09 Cul )0 3 (slawle iy zae (zibar) bl )0
ol 0e caas o Lol 3L 5 dg0c (¥ ol 09 cand o £8 3b (55lae ()

Lol o9 awad o Lol 5L 5 ges (F Lasl g wsad o Lol ol (gjlee (¥

Yol goue ax 3 whido 50 (19,80 1YO Jlad & Jgw)0yd

=Y 4L po(+Y) (¥ +Y 4L oY) O

H1o &l 5 o(-0) (¢ —\o &L i (+0) (v

il e jol8" Sl sl Jmal s plaS (0 )515) (221595 (S)lgali 5o

oSl jome gLl 3 (ol oo (Y ble ez b wasb ()

ooz jp2e 2 silpe slaJus 392y (F 39y Jeozi b 3g; e (F
fol S LG adlio Cugl) Cumsy g 0L Sy (bl p slawle glaas plas

e = )l (¥ om0, ()

lamls Gl - Sl L (F Sdalib - sk (¢

ol (50 3,5 Ol ax 51510 s590ad 90885 (50 unlg loaldi sloial,

Si9isdsnes) woly - S i - (e Sl E ()

Sabygosts Jpo Al o S - i3 X

eoline Codal - il Culrs - e SO (Y

Sl Jolge IAS &y casd iy Cammolias (30 yiiiens 9 Cannl FIIE 53519m ialyd 1S dbcaw S 5

COy 58 les o ygmulis S (Y SgnSS ded - K58 ()

2l e « Ko Culs - Dol (F Cugb, o LS Llg - jdg 0 (Y
fadiwd s p Shgplas 6lhlo slawle glads ;0 Se90 O3 (0 yolgl 8

siedai aul® g Sbs ded rda b 3oy asla (Y g e o b g auls ()

> anlyd gl b Sl pdas b lawgie auls (F wahale ol g Sle adaws b ol o aule (¥

-1y

-\\¥

-1

-\¢

-1y

-1A

-1a

—‘YI

-

-y

-\ry

-\v¥



olint (7 )
YA axio ./9'%?01:5'% 121F YY) as) bl J s 9 Co pow 0!

T s gy o 9 il yos gl L0 3590 plas -1YD

S 5 g gons (F S il g cle ()

S S g Sl (F Cualesd g (ol G o 5 (¥
g onsd (535ad 00955 (sl il plaS )0 Ll S £905 oy —1YF

eV (Foy5302 (F s 385 0er (7 Llgs (¥ w5y ()
Foww] il Ol 31 Syplas (@) L1 STaol asgly -\TY

@loj R slacdpl (Y o sleplz O

Slawle slacd sl (F S5 slacd ags (¥

oo o0 B SIS St dlS canw dilgl 0 0> a3 U apal Sojles -1TA
Hediee b ¥ et b csSanl 4 ¥ (23 b S50 ()
TSP " WA grp-— Wy FRCPN LR P SR T L9V P\
Dedge hos Vb SR b u S f Shul S g (F
Dpdige bas ¥ S b sl e ¥ gme b gl (F

Tl 0ul S b jlaae plas b ol ! 5Ll feao) sla gy -1TA

e - (ool B (SenSS (Y gy = leSle - sl ()
== (F55 5 - (SsiSSsanla (F ol (o9 - (SGelend (F
Tl plas S98U (b 8 Lol g pald 3 Jos pailla - 1Y
5ol i dule o Silsa 555190 5 Lhulujd (¥ UK TP POE SHPNE K P R IR
Sl aix clain ool T il (F 1330, slars S8 galy Siabud (T
(K golio it S

fasws ()es) plas jl puis Sis abls ol 251 -\

Jyas )l g Jgw 2 (F Jgigs (¥ Jgas )| (Y Jger Sl O
flanl S5 80 ) Cow plAS dasuin (9 Jote S gL s jlas SO Sl Culan Shg -ITY
Haplids (f Gypsids (v Calcids (v Salids ¢

?mlw)ogh,),&‘sh«.ﬂi 5)[!)0 980 p‘d’ -\ry

ol A8 ) 2eS pH 4 Esp> 700 .\cﬁ 315280’ EC.Q)
m

ol Asd 5l 25 pH 4 Esp<i0 .TE 2tig EC (¥
m

ot A0 5 i pH  Esp>7010 .f§ 5ty EC (¥
m

! AsD )|)_...:....pH 3 ESP< 710 .f-(—i-s- }l);_:___.__,EC (f
m

fcuwl Mollic s Umbric 331 B3| S0l 090 plas —\YF
&b &L,.:.! WSS (f oteizlu gl (Y s laae (Y gﬂ o ()



o J ' > v
14 axso /Qk?cflﬂ(_/, 121F YY) as) bl J s 9 Co pow 0!

T yls caillae o150 ol auls> gaivainb ;9 09 plus U FAO g sl Cambisol -1
Inceptisols (f Mollisols (v Andisols (v Entisols (\
ol POy ol oz 61510 g gt S g il -1TF
Yoo ;| st (F Yoo ;| a8 (Y Yoo sga> (Y Yoo ()
3,15 3929 LS g 0 GBS )5 a1 g b sldai 53ga0me 43 S plaislio plaf wus i & -ITY
S 8 oS laisle o glaxio lazsle ()
Fr 5 Sygie lerdlo - sasSTy lails plezsla (Y
Slamio Slaisla o glazio g 0aSTy slals lezsla (Y
Slamio g 0aiSTy shils lazslu - oad Wlo glas,LS b Ko lazsla (F
4 9 obl axd) o 3 MalS oud St SLE b asl 51 g oud LSS Al ulu b ralaw 50 45 IS -ITA
03,5 3 903 AblgS 00,5 pIUS 50 i A WLL ol COL (ALS Sly £y R S g palll 8 p0 edle
13,10 pU dx Sl adhain jo S wl Sy p
Torriorthents . psamments (Y Xerorthents . orthents ()
Ustorthents . orthents (¥ Torriorthents . orthents (v

m
2o S oy ‘s}aulozxn.MQ(TDS:WAon),;,,l,o PS5 chen WAL S 33 Ol Jalone (50 51 -7
1

Yo sl
oYY (¥ oY% (\
VY (F FF
¢l 00 Plowww ST 55k § o 31 o 30 &Y Cow Sy @l plas -1Fe
Mellanic (¥ Kandic (v Somberic (¥ Placic (\

Sal Jau b plaS 53 Aridic uugb)y pe3y —IF)
Sl a5 48 laj i juy VRO 208 gl usley JyS alaie )3 SB- (slacuend plad b gtk (0
Dl el e ol O F Jle a0 A 5l i g e Sle B0 Gas o S
Oyl a0 a5 by Jlais 5y 0 ) mi Glp Susb) JS adaie 0 S glaceed plad b i (Y
Aol S ol ol F aile ax o Al i g Sile B0 Ges o S
Syl 4z o8 Gl ke 55, 19 5l 2eS sl (susb) JAS phais 5 S et plas b (25w (T
A5l sb e ol 85 le a0 A Gl i ge il B0 Ges 0 S
ol a0 a5 glej Jlete 59, VA 1 iy gl ueb, )8 adais 0 SIS slacend alei b L35y (F
Al Sl ol ol S Sle a0 A Gl 2t sk il 80 Ges 0 S5
w3y 3 Aridic S ,:,,b,mg),Salic@;m@l,Ochricﬁhﬂw‘;ﬂ shl S 51 -\FY
ol plaS S5 53 09,5 sl Cryic o )1,
Haplosalids (f Haplocryids (v Aquisalids (v Salicryids (\
3 \.J aikiso 4> 39 sl ,SU Gl g U'“J‘!‘ Gewainb ) P USt’ o Jélan Torifluvent S -\FY
93,15 399 Pergelic o, jo LT 9 09 o0 sunlie g
o = S dalaca - Jlggls o 28l (Y aly - S dakas o 280 JLgsls ()



o (;; 1] v, =
Yo axane /92?@3“/, 121F YY) as) bl J s 9 Co pow 0!

€ aiaad B A1 st s (CLP GYK CMc j1 5okiie FAQ suisos; 50 -1FF
Calcaric Petrisols, Calcaric Gypsisols, Calcic Cambisols (\
Petric Calcisols, Calcaric Gypsisols, Calcaric Cambisols (v
Petric Calcisols, Calcic Gypsisols, Calcaric Cambisols (v
Petric Calcisols, Calcaric Gypsisols, Calcic Cambisols (¥
fcunl plas Calcice ¢ Calcaric Dystric Eutric 3ly padlic o jar -1F0
el Sl S ez g (S8l By joi A0 Gl a8 (g5 gLl w0 1B I i (5b gLl ey ()
pedS Sl jpam 5 Sl Slge paz 00 ) s 3k gl ae s T80l 2aT (b gt s s (Y
el Sl S maz5 g (KB Slge jeax B0 (550 ELA! 0o ys YD Gl i 55b gL ae s (Y
S Sl T g g (Sal Blge jpam YD i ik gLl we s TS | aS g5k gl a s (F

mol
Y39l g0 00 CEC .E e b o e aexi Kandic @il o -\F5

YY) e (F A 1 T I 1951580 VF3) mia'€)
€09l g0 JuSli el 30 1 plas —FY
folistic (f Sombric (v Ochric (¥ Histic ()
S )09l sl @l Aridic cush) @25) 0 9 el C g By, By WAy Ojg0h (S5 Ldgy -IFA
ol plas
Haplogypsids (¥ Petrogypsids (v Haplocalcids (¥ Petrocalcids (\
fadias Wog ¥ plus jl i yias Ochrepts Psamments .Cambids slass -1F4
Jamrisomttl i gy e Jgmsn ) (Y Jsis s sl (Jgw Sl O
Jgmiss9 s s Jg S (F Jsm il i S s g )| (F

Sl Goaid 30 o Joleo pimad § Cowl 80l Ll J8 (codmnns 42 30 § Siwd S5 4> Leptosols -1d.
fa! plas’ o155 ol 9
Inceptisols 4 pjebials = Jlple ool 7 ae Josle gobj ol 10 ()
Entisols 5 Jewsd = oIS sl = ailoads LS5 o slaad 59 2 (Y
[nceptisols 5 Jswsid - FAO - ool o5 o] Ges (7
Entisols g Jswsd - FAO - s o g a8l dawgs cand jsbas (F

S (g0 ki S5 42 @ o (55l 0,35 0 ()10 el (2ol Saik jus laz pa -1B)
a3 o 2ol ) gl s ad Sl ()
am3 o0 Rl ) (55l v g (F
il oo a5 (5 ks s sk e a5 L (Y
Sl dai g lub o o s (F



o ¢ s L J y
Y\ axio /QI%?C/%J% 121F YY) as) bl J s 9 Co pow 0!

0,0 (2l gl Slas ! Jxo fusi )0 ol 3590 plas” -10Y
aalpl e 39 @2k ()
OBl 4> G o 4 bao,less o9 Sy (¥
Al Srglize Waslasd Kiw i (F
il sages boi> sl wilsag, b antyl slas lgo (F
Sl Jaws (3 y2r 09200 Jole @ Loy o U ey aiaws plas (31 )3 Ji3e Jolge g uo ol alal) &y azgi b -N0Y
Cy K470
(oS R AL
C,R,7 ("
T s R I(f
RO DU [T SO 1 (- T PR PSR ol yd ol bad -10F
slaalple g La (F (o)Ll - sk (T St - e (¥ st - glaal T ()
Sl iy €D sadl gy Jog G 145 0y ,l0 JWEH K00 Jolge den (3,5 (258 ub b 102
] G )3 3 580 plaS Ylasiol ol ;)] cdil €0» judsl wguwy Jr9i
ol € 3] agar and jl aS € 3ul ager (ki ()
ol €I ] sagar s I s €D fi] asas wend (Y
sl € ol sl b allas 5l ity €D sl o3 llae (lies (T
o € ] gy Bl i €D ] Gge) Blhas e (F
Sl #1051 2 3l (5log s £ 9020 315 )18 o2 58 gy 03 S1F =KyV'S alal b 1 -187
e 9 slare 5 L3 slag i (Y S ka8 glag i ()
Jeiliy (5551 51 (U slag i (F oS g 5,ld sy Egame (T
Tl G o £ LST y0il8 5,0l 0 5590 plas” -1OY
WS g ol 1) o e Ll lea ()
S oo eand |y Bl (om0 )35 (555! il p JBlas (Y
S o eeni |y Bl (o055 55 Bl Sl (7
WS o patia |y Olgw) Cunlidd g jouy 23S o o> (F
! Canw 30U (6510 30l Joo 83150 3,90 plas” VDA

sl gl Bl (¥ AL P i e ppdsillasst (¥ el g )
£3,19 3 31,15 330 plas o Gussette 104

el soan LLL 56l (5,5 el (¥ S S slaa o Jlail ()

sl S 0908 ale Sy Ay oole (F Sl S 0gad Jlul g A, 0ol (T

Tl plas o yias Sakardi s Reimbert b Jgo 8 soliisl 5,90 17+
02,V (5950 dalms ) L28 Cypo s ()
D s 3 cpman ABC Sy ot Sogac abuald yaun (¥
035 ;¥ (6850 dnilms v Sy Sl Lol> (6050 dnulowns (T
LSl o (5390e alold punsti 3y 0 5l Sl (slog i dlns (F



o (;; v’ L J =
YY axco /92?@3“/, 121F YY) as) bl J s 9 Co pow 0!

T39 00 ALl gl AT (slino 1 (5 31D Sorms (St iy (s 530,515

!l gl Soalas agl; (Y S ol argl; ()

Ry gai pll (fwd (30,51 aw ol po (F Silke sloak (FadaS al; (7

€300 (5 yions 5l (2N sloias 33 Fy (5900 32390 plas

=S SRS b (Y S jLad cu e ()

S S S S egaa s (F s S (g, ol glis | (F

GRS A0 (5t 42 S Py Rl L ogd ol Badls o)lgd b gudsSis aials SO 0 ST
g co Olou!

sl Sy Aol a0 520 g0 ST 4 (5 0 ST s ()

s gn Gl g5 i) Cualins 5 Gl o 4 350 aisn (Y

Al o ali8l Ladlons 6 lgss Cuales (o Aulial Lds a4 oSl ania (Y7

g eas Sl alja ;3 (6 i lagSn IS £l oy Sl aas (F

foml oo i e ¥ Eli )y SO L o e 0 T s Sl J5b

oA ()

W (Y

Wy

0 (F

SY b s 1 5ol (sl (SIS e oY A Jlab 3l 33 1y il o ey 9590 plas
3,1 2Nl sraw

I i gl (¥ Rops o2y >l (25 ()

o ol 0 Ol B3, 5 e ol gl )l (F s B Slygay (gl (Y
Togu g0 42,5 Jla )0yl 13y e e )3 (gl S (08 5 plake Caaliud

aw J5 glas,l o)¥ ()

e 5 gl oY (Y

e ) (Y

39 g0 dasla C=0,Y0(h + e)/? abal, 51 (F

)l gladuly 4z (Jj9 gl o soow plu b Jeull baw o> 0>

ol LSS ()

) bl s (Y

ol 2ty LYo adian (Y

Q308 Jig slaaw jl 28T e u_'.,,_,l.f (¥

ot 541 el i S 1B 53 > Shol s ol Culible g1 (S i S S S 3 Cuolid
foaw! juis>

voh g vd,. (Y \oh gdg, O

va(h+e) o vdy (F vo(h+e) ¢ dy (¥

-\

-\7Y

-\#Y

-\F¥

-\#b

-\

-\ryY

-\FA



) e .
YY axae /QI{?OJ:J(_/, 121F (YY) a5) (bl J 88 9 Co paw (yaa)!

. | s

oy walys juda iy Lbl

P yP
BB ¢
P
B A0
YP P
BB
YP
B2

dw Ay 30 ol 0 45 Aijgy LY dlawi e Foude gl L O e 2ol aw STy Y
fowl @y wis 0 ¥ 2k
Y ()
Y (v
f(r
O (f



e LA 121F

el OTYY 05) bl J 58 9 o ke ype3]




